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It is different here, for their 7?17 was flawed — 3799217 Y997 Ro7 SINR

OVERVIEW

The Xn»72 relates that (Xnwni) M forbade this family (°2°112 °12) from eating
nam WP (since they could not find the proper documentation) but permitted them
in MmN and 2°93 MWl The R asked if we maintain 10172 3"win 1oy, they
will give this family all the rights of proper 2°173. The X3 answered that there is
no concern in this case since 1P ¥°7. There is a dispute between '@ and 190N
as how to interpret ¥7°°p117 ¥.

- PY2IN PR ITNY NI SYWTD INY PIMN B3N INY DINII Y91V ‘09039 wre
>"'w9 explained that it is 7P ¥°7, since everyone sees all the other 2%
eating all sorts of mar >w7p and this family (°7°112 °12) are not eating nam *wp.

mooIn disagrees with >"wA:
= PON1TY NA SWTHY 1NPPON KD INNN PIYN 9INT NI SWPIN 0PN YT NYP NI

And there is a slight difficulty with >"v"5, for notwithstanding that 7>°p1 v,
you may ask that according to the 1°0m°% 2"win 9y» 7', why indeed were they
not 7757 this °7°12 *12 family from 2"w1 to mat sw7p and o2l

mooIn offers his interpretation:
- 2HN9Y5 1PNV S92 933 IR DN DITNM 1NY 199N INIPIN Y197 DN 19297 AN

And it is the view of the n''9 that y1>p ¥°9 means that they attributed the

genealogy of that family to the 59°192 %12 who was a »X=w» -
- SNN5Y 59199 PYYN PN NPIN YININRT RPN DN INYD XYY *199

And in addition they did not find their provenance, so wherever there is a flaw

Loaw ",
* This 7"» maintains that we are 7>y» from Pom> 5"w31 even though we do not know whether they are 7om or not;
as long as they were 1 for 3"w1 they are 1P for 1°om. The °2°112 °12 did 2"w1 in the 791, therefore 7°nm1 should
have been 72¥n them to a full 7117 status, including nam *w7p and on.
? Their lineage was traced to a ?xw, therefore even though they were 253 X1 in the 723, their 7Pt of being %372
was ruined [and especially since they could not find the documentation].
* It would seem that this is not another [separate] reason (for as '01n stated previously £an3 wx» K> is insufficient [on
its own] to invalidate the 7p1m) but rather since we have two reasons (872> InR 2N 2°01°n and 02nd WIN XH)
therefore even though they were 07°5> D°RWw1 we cannot be 7997 them to 711733, It follows therefore that the reason of
ORI R anR °onn by itself is also insufficient to ruin the 7p1n. NSO must maintain this, since the 109 states
IR¥N K91 DWW NI 02N5 Wwp32 as the (conclusive) reason why 7337137 12 2R
> The flow of the X723 will then be as follows; initially based on the 105 we assumed that they lost their 71175 status
because 02N ¥ X2, on which the X3 asked 70117 2"wn 1o, the X3 answered that it was 7P ¥ since they
were PR INR aNX 0°0nn, therefore coupled with the fact that they did not have 0ana, they lost their 71217 status.
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in the 1P, all agree that we are not (Ponh 2"'win) mwn.

nooIn asks:
= NNN 13 HH YNNI INNN TH991Y 1YY NN 6111)",7WNB N NIPIYN 19999 NYP YaN

However there is another difficulty; for instead of the X3 asking initially, ‘but
(according the on 2"wan 1oyn 1"») it will come that the *7°172 °12 would be
elevated to complete 11175, the X723 should have asked, ‘why were they
invalidated from the /729712 at all’ in the first place —

Mo0IN answers:
= 1NPON KDY 25N DIVNY 7111”‘,7?!‘\ 997 Y1 N YT 10 W

And one can say; that indeed the X723 knew even in the question that ¥79p ¥°9

and therefore »79PoR RY -
- WNMY NN INMPIN Y997 23 9Y NT PIYT XPYD MNT NN

However, it may have entered our minds, that even though ypm >3 (and

therefore 11 voided them from the 7111770), nevertheless there is the concern -
5025 NN NYY WP NV 9902V 1NPPIONY INN NNDT

That perhaps eventually in later generations they will be elevated, for then no

one will know that 2an> 182" X% and ¥7pin ¥1. People may assume that since they are
an°e> kw1 they are valid 0°372, so 11 should have taken away from them all their rights of
715 even those which they had 7732.

SUMMARY
17PN ¥ according to v"wA is because they did not eat 2°w7p, and according to
mooIN it is because they were or»nn to a PX7w° and they could not find 0an>.

THINKING IT OVER
mMooIn answers that even in the X177 the X ) knew that 17>°p1n v1.” What then was
the s'X7n3 answer that 171 7, since the JwpPn was already aware of jt2110

6 Presumably (before the X713 answered 7P ¥°77 7277 "IXW) we assumed initially that there is no X1y in their 71,
and since they are 0’95 o°Xw1 the X3 asked what was accomplished by 1117797 1 19X, since eventually they will
be elevated to 71112 according to the 7" that Ponh >"win Poyn. The question Moo is asking is that the X1 should
have asked, why were they 31727 12 Y283 since 1°0n% 2"wn 179vn?!
7 See “Thinking it over’.
¥ The X3 answered that even though they might forget that 0an3 W3» X2, nevertheless it is still 177p1m ¥ since they
were PRI IR 07NN,
? See footnote # 7.
10 See 1A X"w i (and footnote # 8).
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